3

\/

M)

e

2X2PEN (H20.88B=XK

DL, BBHANTERAL EERADIKEWR

N\
\
/

i

S
RS
&=

=) 7j(
=

Iy
/

.
BE LTS

5t

BFRE=R] [CEDREL
. +oBEL

BRI

/

\

(S

28U,

KIS MOEEOTIOLIMFRDORAEFICROEDDE I, LHFIBO

146mm%Z3

=
£

(G
=

N,

=

&

11
BRUIC

RN IS

SN SN,

e e =
T+ =

ESEARD);

O CDMIFFH20F8AR

==
O

B, DTERNEFZRICIERUIZ

iS10)

KEZERIRUZ

SWDRKESIR

=
32

o

=2
=

TSR
| EDOTHD, INTOD;

S

OBBEK, BEEKERTSNTUSNEE

TlRHDFE A

LTnariz

STERR

=
RENDHDIBENDHDFT,

o:

0. BPTERSINRNERREDHBENDDET,

ORKRSBBENSD

ORKRICIE

&
[

o A = T I AT

L%

IS

[’

g

7K

1.06m <JZKER

S
Q
0)

| O
Vi
8K

=0.75m

=
=2
.
R

=0.60m

SIGHE

=045m

S
Q
5!
@]
Vil

23

/

QSN NN

EET | 0.75m<
I | 0.60m <

[ 1] o45m<s

[ 1| o15m<EK

&
&
5

|
S

AL 1] 030m<EKER

=
I

R AN

hEEXIR

€ o




